
Ersatzteilliste

 

AC166i.2-2,6-7

6721848444
(2022/02) db

1



 2022/02 2 6721848444 



 2022/02 3 6721848444 



AC166i.2-2,6 7 733 701 858 5
AC166i.2-3,5 7 733 701 860 7
AC166i.2-5,3 7 733 701 862 9
AC166i.2-7,0 7 733 701 864 11

 2022/02 4 6721848444 



Ersatzteilliste

AC166i.2-2,6       7733701858

 2022/02 5 6721848444 



AC166i.2-2,6       7733701858

Bezeichnung Bestell-Nr. AC
16

6i
.2

-2
,6

Bemerkungen
1 Verflüssiger kompl 7 733 700 149 ■
2 Gehäuse 7 733 700 150 ■
3 Seitenteil rechts 7 733 700 151 ■
4 Handgriff 8 750 501 573 ■
5 Auffangbehälter 7 739 832 371 ■
6 Vorderwand kompl. 8 750 501 630 ■
7 Luftauslassgitter 8 750 501 566 ■
8 Vorderwand 8 750 501 627 ■
9 Deckel 7 733 700 155 ■

10 Gebläse 7 733 700 156 ■
11 Motor 7 733 700 157 ■
12 Halter Motor 7 733 700 158 ■
13 Halter links 7 733 700 159 ■
14 Seitenteil 7 733 700 160 ■
15 Anschlussklemme 7 739 832 394 ■
16 Anschlusskarte 7 739 832 393 ■
17 4-Wege-Ventil Baugruppe 8 750 501 488 ■
18 Ventil 3/8" 7 739 832 382 ■
19 4-Wege-Ventil 7 739 832 383 ■
20 Montageanschlussplatte 7 739 832 384 ■
21 Schalldämpfer 7 733 700 162 ■
22 2-Wege-Ventil kompl. 8 750 501 641 ■
23 Ventil 7 739 832 386 ■
24 Kapillarrohr 8 750 501 580 ■
25 Kompressor 7 733 700 165 ■
26 Mutter TLM-B02 - 3/8’ 7 739 832 338 ■
26 Mutter TLM-A01 - 1/4’ 7 739 832 339 ■
27 Steuerung kompl. 8 750 501 610 ■
28 Halter 7 733 700 167 ■
29 Gehäuse 7 733 700 169 ■
30 Befestigungsblech 7 733 700 170 ■
31 Fühler 7 733 700 091 ■
32 Kompressor Kabel 7 733 700 171 ■

 2022/02 6 6721848444 



Ersatzteilliste

AC166i.2-3,5       7733701860

 2022/02 7 6721848444 



AC166i.2-3,5       7733701860

Bezeichnung Bestell-Nr. AC
16

6i
.2

-3
,5

Bemerkungen
1 Verflüssiger kompl 7 733 700 149 ■
2 Gehäuse 7 733 700 150 ■
3 Seitenteil rechts 7 733 700 151 ■
4 Handgriff 8 750 501 573 ■
5 Auffangbehälter 7 739 832 371 ■
6 Vorderwand kompl. 8 750 501 630 ■
7 Luftauslassgitter 8 750 501 566 ■
8 Vorderwand 8 750 501 627 ■
9 Deckel 7 733 700 155 ■

10 Gebläse 7 733 700 156 ■
11 Motor 7 733 700 157 ■
12 Halter Motor 7 733 700 158 ■
13 Halter links 7 733 700 159 ■
14 Seitenteil 7 733 700 160 ■
15 Anschlussklemme 7 739 832 394 ■
16 Anschlusskarte 7 739 832 393 ■
17 4-Wege-Ventil Baugruppe 8 750 501 488 ■
18 Ventil 3/8" 7 739 832 382 ■
19 4-Wege-Ventil 7 739 832 383 ■
20 Montageanschlussplatte 7 739 832 384 ■
21 Schalldämpfer 7 733 700 162 ■
22 2-Wege-Ventil kompl. 8 750 501 641 ■
23 Ventil 7 739 832 386 ■
24 Kapillarrohr 8 750 501 580 ■
25 Kompressor 7 733 700 165 ■
26 Mutter TLM-B02 - 3/8’ 7 739 832 338 ■
26 Mutter TLM-A01 - 1/4’ 7 739 832 339 ■
27 Steuerung kompl. 8 750 501 611 ■
28 Halter 7 733 700 167 ■
29 Gehäuse 7 733 700 169 ■
30 Befestigungsblech 7 733 700 170 ■
31 Fühler 7 733 700 091 ■
32 Kompressor Kabel 7 733 700 171 ■

 2022/02 8 6721848444 



Ersatzteilliste

AC166i.2-5,3       7733701862

 2022/02 9 6721848444 



AC166i.2-5,3       7733701862

Bezeichnung Bestell-Nr. AC
16

6i
.2

-5
,3

Bemerkungen
1 Vorderwand kompl. 8 750 501 631 ■
2 Luftauslassgitter 8 750 501 567 ■
3 Vorderwand 8 750 501 628 ■
4 Gebläse 8 750 501 570 ■
5 Gebläsemotor 8 750 501 578 ■
6 Halterung Motor 8 750 501 671 ■
7 Verflüssiger kompl. 8 750 501 593 ■
8 Seitenwand links 8 750 501 637 ■
9 Abdeckung oben 8 750 501 677 ■

10 Trennwand 8 750 501 662 ■
11 Seitenwand rechts 8 750 501 667 ■
12 Auffangbehälter 7 739 832 371 ■
13 Handgriff 8 750 501 573 ■
14 Anschlussklemme 7 739 832 394 ■
15 Bodenplatte 8 750 501 589 ■
16 Kompressor 8 733 500 693 ■
17 Ventil kompl.4-Wege 8 750 501 563 ■
18 Gasventil 1/2" 7 739 832 536 ■
19 4-Wege-Ventil 8 750 501 561 ■
20 Ventilplatte 8 750 501 680 ■
21 2-Wege-Ventil kompl. 8 750 501 642 ■
22 Ventil 7 739 832 386 ■
23 Mutter TLM-A01 - 1/4’ 7 739 832 339 ■
23 Mutter TLM-C03 - 1/2’ 7 739 832 398 ■
24 Fühler 7 733 700 091 ■
25 Anschlusskarte 7 739 832 393 ■
26 Steuerung kompl. 8 750 501 612 ■
27 Halter 7 733 700 167 ■
28 Befestigungsblech 7 733 700 170 ■
29 Gehäuse 7 733 700 169 ■
30 Kompressor Kabel 7 733 700 171 ■

 2022/02 10 6721848444 



Ersatzteilliste

AC166i.2-7,0       7733701864

 2022/02 11 6721848444 



AC166i.2-7,0       7733701864

Bezeichnung Bestell-Nr. AC
16

6i
.2

-7
,0

Bemerkungen
1 Vorderwand 8 750 501 629 ■
2 Luftauslassgitter 8 750 501 568 ■
3 Gebläse 8 750 501 571 ■
4 Gebläsemotor 8 750 501 579 ■
5 Halterung Motor 8 750 501 672 ■
6 Verflüssiger kompl. 8 750 501 594 ■
7 Seitenwand links 8 750 501 638 ■
8 Abdeckung oben 8 750 501 678 ■
9 Trennwand 8 750 501 664 ■

10 Seitenwand rechts 8 750 501 668 ■
11 Auffangbehälter 7 739 832 371 ■
12 Handgriff 8 750 501 573 ■
14 Bodenplatte 8 750 501 590 ■
15 Kompressor 8 750 501 159 ■
16 Ventil kompl.4-Wege 8 750 501 564 ■
17 3-Wege-Ventil 8 750 501 632 ■
18 4-Wege-Ventil 7 739 832 437 ■
19 Ventilplatte 8 750 501 680 ■
20 Schalldämpfer 8 750 501 652 ■
21 2-Wege-Ventil kompl. 8 750 501 643 ■
22 Ventil 7 733 700 209 ■
23 Drosselventil 8 750 501 675 ■
23 Drosselventil 8 750 501 676 ■
24 Heizkörper 7 739 832 766 ■
25 Montagerahmen 7 739 832 767 ■
26 Mutter TLM-B02 - 3/8’ 7 739 832 338 ■
26 Mutter TLM-D04 - 5/8’ 7 739 832 418 ■
27 Kombifühler 8 750 501 592 ■
28 Anschlusskarte 8 750 501 674 ■
29 Steuerung kompl. 8 750 501 613 ■
30 Leiterplatte 7 739 832 734 ■
32 Kompressor Kabel 7 733 700 171 ■
 Anschlussklemme 7 739 832 394 ■

 2022/02 12 6721848444 



 2022/02 13 6721848444 


